
LSU EE 4720 Homework 2 Due: 27 February 2015

For those preparing electronic submission of a solution (E-mail) and who would like a vector-
format version of the MIPS implementation can find it in Encapsulated Postscript at
http://www.ece.lsu.edu/ee4720/2015/mpipei3.eps and for those who would like to edit the
image can find it in Inkscape SVG at http://www.ece.lsu.edu/ee4720/2015/mpipei3.svg.

Problem 1: Answer Spring 2014 Final Exam Problem 7(c), which asks about how new load
addressing behavior should be added to MIPS.

Problem 2: Answer Spring 2014 Final Exam Problem 5, which asks about a new MIPS branch
instruction, bfeq.

Problem 3: Show the control logic for the IF-stage multiplexor in the MIPS implementation
below.

• The control logic should work for beq, bne, bgtz, bgez, and j. Assume that any other
instruction is not a control transfer.

• Show exactly which IR bits are needed by the control logic that detects bgez (Hint, hint.)
and other instructions.

• The control logic should check the condition to determine if the branch is taken.
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